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Exdreme Values

Theorem:: If e dormain of §is Gl il [-fintt e indiEmicald BB { is condinuous » Aty <F ek
have an abgolute woxirnum and abgolule minpoum value |

A furcfion  can have local extreme values only ot
() CRitical Points of § (xeDH) and {'(=0)

) Singular Poirds of §  (XxeDH) ard 60 does not exist)
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When we ompore -the values
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Conaavity _ard Inflections

4 is concave up on an open isyeldiht I B 4

0
decﬂeasirﬁ, e
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(i) Concavity of { is cppusie on opposite  sides of Xo- i

4.. tind and classi{9 all local extreme values of {(x). Determine whether any of +hese
exiReme values are abcolute. Find dre intervals on which ) is ir\(,ReO;Sing,dechQg\'/g‘
Concave up and (oncave down. Jocote any inflection poimts i exist.
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